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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

9. Read carefully instructions regarding method of answering questions given on the |
and indicate your answers on the Answer-Sheet provided.

3. Use of any type of calculator or log table and Mobile Phone is prohibited. -
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D . -
¥y (3. 1-3) irections : (Question 1 - 3)

Fa R smte w1 avermm e | HR R

Read the diagram given below. Choose the

answer from the given options of the

M%mmwﬁmﬁz}gﬁq fOIlDWing questions :

20/17 15\ 30 40

[/

10 25
20/]7(15\ 30 )40

[\

A:mﬁaﬁmﬁﬁﬁm A=N0.0fpersons who drink tea

O = %1 1 arst st ) v O

= No. of persons who drink coffee

|:| = I T 916t S3fa &t o l: = No. of persons who drink wine

1. WaRkd S st ah g | "
(a) 25
(b) 45
(c) 20
(d) 90

2. W =fFE 6 gen S 9w sk e | >
Qi E -

Number of those persons who drink

only coffee :
(a) 25
(b) 45
(c) 20
(d) 90

Number of those persons who drink tea
and coffee both :

(a) 7
@ 7 ®) 17
& 17 () 20
a2 .-
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3.

4.

5

@Eﬁlﬁﬁﬁwﬁm,wam
O ot e 8
- (@) 15

(b) 32

(c) 22

(d) 24

e : T YA % a1e Qe T g
® | 319 75 frfeaa Hifse fe S
Th WTEE 3 30 HI HESN ¢ |

T : F1 WA # |eft 31y &) wfgenan
3R wrgfenal o fore gl e ww
@ ST =R, ?

Teh-1 ; 981, I8 AR IAHH GRS @i
S HES ST |

Teh=1I : &, YA AfGeaai = M =l
FITH T 1 TE) THAH T E |

(a) T Toh-1 AFEE ¢ |

(b) et Teh-11 F9e # |

(c) T Ah-1 AT eh-11 AFEH B |

(d) e deh-1 3T 7 qeh-11 TR 2 |

TE&AT 6n2 + 6n FEl n Th WHd €& 8,
FAM WA &

(a) 18¥

(b) 12¥

(c) 6%

(d) 674127

The Vision

Number of those persons who drink all,
tea, coffee and wine :

(a) 15
(b) 32
(c) 22
(d) 24

Direction : Two arguments are given
after a statement, you have to
decide which argument is strong
and which argument is weak.

Statement : Should the
education for women and girls of
all the age groups to be given free
of cost in India ?

complete

Argument I : No, it will weaken our
present social structure.

Argument II : Yes, it only is the way
io regain the glory of Indian women.

(a) Only Argument I is strong.

(b) Only Argument II is strong.

(c) Either Argument I or Argument II is
strong.

(d) Neither Argument I nor Argument IT
is strong.

The number 6n* + 6n, where n is a
natural number, is always divisible by

(@ 18
(b) 12
© 6
(d) 6and12

CGP-18-02*
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6. Fefafeadasmaana ¢

12 5eY, 23 SFadt, 30 e, 5 Ry,
14 Faway

(a) 23 vHh
(b) 30 ==l
(c) 5 Toamsm
(d) 14 Fqv=g

fw:@7-12

ﬁqmﬁﬂmiﬁﬁmmgﬁmm
&y«

JY2=S£dEGM:$HP9KLb@WQ13#CDO

7. R TR weftes § e redes 35 e i o
T AT TS A T T R o
o 3 e 7

(@) I3
(b) T
© 7

(d) I

8. 2YS, Edf ¥ 3t yor g=im 2 39

6. Which of the following is odd one ?

12" January, 23" January, 30" January,

5% September, 14" November
(a) 23" January

(b) 30" January

(¢) 5" September

(d) 14" November

Direction : (Question 7 - 12)
Study the following and answer the questions :

IY2=S£dEGM:7$HPO9KLb@WQ13#CD©

7.  How many such symbols are there each
of which is followed by a number or

preceded by a letter but not both ?
(a) Zero
(b) One
(c) Two

(d) Three

8. 2YS is related to Edf in the same way

PHK T=frq & as PHK is related to
(a) bQdH (2) bQd
(b) @bL® (b) @bL
(c) WQER (¢) WQE
d @bQ@ @ @bQ
CGP - 18 - 02*  Paze No.6 S
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9.

10.

11.

A e o7 & Rl vd® & wrg ¥ oy
Tl 2 A1 TRAE | TEA Th I e }
fepeg QAT 8 2

(@) YH

(b) T

© @

(d) ¥ HIE TR

WO R itm s STRAT
Yo § UEel U GG A @ g QM
T8l ?

(a) ©
(b) oA
©

(d) T

5 e i Sl & fha 3T € 7
(a) 7

Bb) 5

(©) 2

(d) 0 (réTd)

cGP -

18-02*

10.

11.

How many such digits are there each of
which is followed by a symbol or

preceded by a letter but not both ?
(a) Zero
(b) One
(c) Two

(d) None of these

How many such letters are there each of
which is followed by a pumber or

preceded by a number but not both ?
(a) Four

(b) Three

(c) Two

(d) One

How many English numerals are there
in this arrangement ?

(a) 7

(b) 5

(© 2

(d) 0 (None)

Page No. 7
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13.

14,

2. %% 2 T ) e e weii
FAE 7

(a) 8 ot Tdi
(b) %
€ @
(d) 9=

et vt 3oft it spere 8
bs_hj _n_rt

(a) beim

(b) cfgo

(c) dfgp

(d) dflp

Frfafaa st 3 & = o SR
ISTC T et o 7t g et o e
87

A) /K (B)

(a) %ad (A) 3T (C)
(b) % (B) 3R (D)
(c) ¥ (A) #R (B)
(d) 4w (A), (C) 3R (D)

CGP - 18-02*

12.

13.

14.

How many symbols represent the

currencies of some countries ?
(a) None
(b) One
(c) Two

(d) Three

The missing letters in the following

letter series in order are :
b__hj_n_rt

(a) beim

(b) cfgo

(c) dfgp
(d) dflp

Which of the following figures can be
drawn without lifting the pencil and
without repeating a line ?

VAN
o L] /N

(@) Only (A) and (C)
(b) Only (B) and (D)
(c) Only (A) and (B)

(d) Only (A), (C) and (D)

Page No. 8
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15. ﬁn%%aaaﬁ@’iﬁﬁﬁéw,nﬁaﬁﬁ@
& B T 9 AR g9rian 27 country in following diagrams ?

» @D

(©) @ (c)
(d) (d)

16. 132 F AR GHigdaism@m | 16. At which time the hands of clock will

15. Which diagram shows district, state and

ded;

o fore Tm go Rt 2 meet together between 1 and 2 O’clock ?
(@) 1:30 WE
®) 1:55 ®) 1:53%
8 8
(©) 1:1077 © 1:1057
(d) 1:10% (d) 1:10{%
17. aR+[3n=81d@n=2 17. 13" =81, thenn="2
(a) 81 (a) 81
) 9 (b) 9
(c) 8 (c) 8
(d 6 d) 6

CGP-18 - 02* Page No. 9 Set-A
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L
112 /576 256

18. mx 12 %% FAAD

(a) 32
(b) 36
(c) 28

(d) 24

19.

(@
(b)

(©)

(d)

20. = qu i

YBV, TGT, OLR, JQP,

18,

19,

20,

112 576 256 .
Thevalucofmxlgx g 1
(a) 32
(b) 36
(c) 28
d) 24

1 !
The value of (I -'31'] -(l _31') -[I -gj o (I Y

is

@ *

® 2

(o o=l

2
nn+1)

(d)

Complete the following :

YBV, TGT, OLR, JQP,

(a) EVO
(a) EVO ) FVM
(b) FVM © EVN
(c) EVN @ FVN
(d) FVN :
CGP - 18 - 02* Page No. 10



The Vision

LWL

21. g B et e O TR R gl
et & | Afe e S B R, S
ot foper) izt it 7
(a) 8
(b) 9
@© 10
(d) ST YL R |

fdw : (2.22-26)
9 fRuTu U HT STEHET FHINT IR I W
STeTRE A1 T I I :

704 - frgefigpa ot =1 vfowa
60

60 +
50 1 45 - %

40 4
30 -

i 25
204 20
10t , ’
B I T R
=g

30

Wl (%)

22, T o # fagdfipa omi &1 wfow
Aftpaa 8 7

(a A
b
) §

@ <

All Saturday and Sunday are holidays

in a month. If the month is January,

21.

then how many total holidays are there
in that month ?

(a) 8

(b) 9

(c) 10
(d) Incomplete information.

Direction : (Question 22 — 26)
Study the graph given below and then give

the answer to the questions based on them.

Percentage of Non-electrified Villages

70 +

60 + L .
X507 45 i
& 40 +
k| 30
5 30+ 25
o 20+ 20
-9

10 | H

o 2 b ¢ d e f
States

22. In which state percentage of electrified

village is maximum ?
(@ a
(b) b
© ¢
d) d

CGP-18 - 02*
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23,

1A

23. 3 % RN v & Ry w9

% for o 23 o oy s e
el amit ot v ) o et 8

A e s 3 9 ey Y R
3R 7

@ ®g
®) §
() &

d) %

. 'mwﬁmammmm

If Central Government decided to help
immediate electrification and starteq

from the state having minimum

Clectrified villages, then which State

Will be fourth in preferential order ?

@@ ¢
(b) b
(c) a

@) f

4, Il? how many states electrification of
mﬁmﬁm@w% ? the villages have been completed
@ atleast 60% or above ?

(@) Five
) =
(b) Three
(¢) ¥R
(¢) Four
@ a (d Two
Loo i B ¥ el @ TN H | 25. In which state percentage of electrified
ﬁwmmma@% ” villages is double in comparison with
o state d ?
W (@) ¢
®y ® f
) & © a
@b
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| AR A O
26, U9 HA o fara wicsra ot &1 ﬁg?ﬂm 26. How many percentage of villages have

electrified in state a ?

AgFR?
@ 65 (2) 65
(by 25 (b) 25
©) 35 (c) 35
@ 75 7 (dy 75
few: (@.27-3D Direction : (Question 27 — 31)

The following charts shows the expenditures

frifia =1 o SO (MTE & A7) & ST T
) on different items of people of two countries
Al R @ weftfa FAE 13 (India and Nepal). Study them and find the
0 3 Sl 1 T I T ST correct answer of the questions given below :

Nepal India

27. WA W YR ST @9 TS & G A 27. How many times is the expenditure of
India to expenditure of Nepal on food ?

R T E 7
(a) 9 afes (a) More than half
(b) 39 HH (b) Less than half
() ATEHH (c) Less than two times
(d) Q@ TTY ’F (d) More than two times

CGP-18 - 02* Page No. 13 Set-A
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28. m%ﬁﬂ%ﬁmaﬁmmm@ﬁ 28. How much more is the percentage of

total expenditure on entertainment in

w1 b wfererar avfres @<l w3 # 7
comparison to food of the people in
(@) 62.4% Nepal ?
(b) 71.5% (@) 62.4%
(24

(©) 41.7% (b) 71.5%

1 (c) 41.7%
(d) T8 A HE 7

(d) None of these

29, |
9. YA St &7 3t TS T @ e 29, What is the approximate percentage of

EE RN expenditure on other items of Indian
people ?

@ 22%
(@) 22%

o) (b) 14%

©) 9% © 9%

d) 17% (d) 17%

30, GRAT AM FTIAFT WG aar gt & | 30. What is the ratio of expenditure on
travel of Indian people and expenditure

AT 61 AT WG § TSI E ? on travel of Nepal people ?
@ 9:5 @) 213
(b) 2:5 | R
fe) 5:3 vl
(d 3:4 R
Page No. 14 -
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31

32.

33.

Ffe AqTeT 1 TNET TSI X 22 W 5
FIR B ) 761 378 T R @t By

27

(a) T 65TE 30 BIR
(b) ¥ 50T 60 EAR
(c) % 60TE

(d) T 109@ 20 &N

ot 3 57l T wTed & W) 20 TR R
afe wTedt ot & et 9 & TS SHHT W
14 Bpan. 2 | @l aed F AR R

from. 8 7

(a) 6fs.m.
(b) 7.
(c) 10Tfw.am.
(d) 8f&s.am.

21 76T U 2] I A 2 HUS TAT 3 F0E
§ wgea § | e 31 7 T IU @
feu wrd, A 2ol WA | FHE T -

(2) 2991 30 fire
(b) 5992
) 50FmE

@) 19v 12 fime

31.

32.

33.

If the expenditure on education is
¥ 22 lakhs 50 thousand of Nepal people,
then how much their expenditure 1s on

entertainment ?
(a) T 65 lakhs 30 thousands
(b) T 50 lakhs 60 thousands
(c¢) %60 lakhs
(d) ¥ 10lakhs 20 thousands

The weight of a bucket full of water is
20 kg. If the bucket is half filled with
water, then its weight is 14 kg. How
many kg is the weight of empty bucket ?
(a) okg

(b) 7kg

(¢) 10kg

() 8kg

Two pipes can fill a cistern in 2 and 3
hours respectively. If both the pipes are
opened together, then the time taken to

fill the cistern is

(a) 2 hrs 30 minutes
(b) 5hrs

(¢) 50 minutes

(d) 1 hr 12 minutes

CGP -

18-02*
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M.

T
tn

36.

230 et o Yo T
12 s i qr e R | Temd B
e freinfie sfty wwer @ 7

@) 60

(by 80

© 75

(d) 50

T &G 1 < 2.700 F sret ut It 41 &1
&Il & e 5 e 91 10% oy w3

T BT 2, 1 39 9 1 @ oD
R ?

(@) T2.700

“(b) ¥3.000

(¢ ¥3.300
(d) < 3,600

foelt RS9 W dw s
S 3 ST o A 15 TR | R
I TR 40 M B, A W @ 6
eré et & 7

(a) 20MiA

(b) 247X
(c) 25X

(d) THS MR E |

CGP-18-02*
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34,

33,

36.

A train of length 250 metre crosses a
in 12

kilometres/hour is the speed of the

pole seconds. How many

train ?
(a) 60
(b) 80
(c) 75
(dy 50

On selling an article at ¥ 2,700 the logg
is the same as the profit if it was sold op
10% profit, then what is the cost price
of the article ?

(@) < 2,700
(b) ¥ 3.000
(¢) ¥3.,300

(d) ¥3.600

The area of a rectangular field is 15
time the sum of its length and breadth.

If its length is 40 metres, then what is
the breadth of the field ?

(a) 20 metres
(b) 24 metres
(¢) 25 metres

(d) Data is not sufficient.

Page No. 16
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37, o wF A TFAfe A A WA A
ﬁgmg‘rmﬁ,?ﬁwwﬁmﬁ
2 A g e et & Eiee T 8 e o
(a) 24ad
) 1674
(c) gad
@ 12

fdw : (9. 38 - 40)

2 frererat A" 3B ¥ vlaee Fefafed
afmr # e me ¥ | 2 gyl & I W
anfere & €

Prowm A | frowm B |

& | aften § ey
» Ifivi 2 3ol
x| 130 F—] 90 |50
X | — | 160 110 | 80
xt | 160 [150] — |05
xim | 140 | 135 1o |—
o | 60 | 50| 4w Eéﬁﬂ

38, oM frareral & Fo fra wfawra formeft

The Vision

37, If an amount is doubled in three years
at a given ratio of compound interest,
then at the same rate of compound
interest in how many years it will

become sixteen times ?
(a)
(b)
(c) 8 years

(d)

24 years

16 years

12 years

Directions : (Question 38 — 40)

The examination results of two schools A and
B is given in the table below. Answer the

following questions :

| | School A School B |
|Classu; ]
]Appeared Pass|Appeared | Pass
X 30 | —! 90 |50
X {60 110 | 80
XI 160 150 — | 105
X1 140|135 110 | —
Total | 630 |550| 430 | 340
J

38. How many percent of the total number
of students of both the school are pass ?

?
ik @ 90.0
@ 89:'2 (b) 87.4
g 33'9 © 839
@ 932 @ 932
0GP - 18- 02* Page No. 17 Set-A
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39, e fawmeral & ®an X & 914
®raemy
(a) 310
(b) 255
(c) 250
(d) 240

40. fremers <A’ & wmorx) sl Har-X %
T 1A Tt ferenfefi = ot @
(a) 150.6
(b) 155.0
(c) 70.0
(d) 1325

Ew: . 41 -42)

e ffyea e amn i -

(i)  Pitdar na %1 3% you are good

(ii) dar tok pa #1 319 good and bad T

(iii) tim na tok T 39 they are bad B |

41. mmﬁ'mey'%mmaﬁzwm
frmmn g 7
(a) na
(b) tok
(c) tim

(d) pit

39.  The number of passed students of Clasg

X from both the school is
(a) 310
(h) 255
(c) 250
(d) 240
40.  Average of passed students of class IX
and class X of school A is
(a) 150.6
(b) 155.0
(¢) 70.0
(dy 132.5

Directions : (Question 41 - 42)
In a certain code language
(1)  Pit dar na means you are good
(i1) dar tok pa means good and bad

(ii1) tim na tok means they are bad

41. Which code is used for ‘they’ in this
language ?

(a) na
(b) tok
(c) tim

(d) pit

oge-15-02*
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42 'Néﬂ"ﬂ WA W1 I I A S fe | 42.  Which of the following statements may
Afefaa § @ fFa w39 & e @ be removed in order to find the answer
THAR ? of the above question ?

(@) W (i) (a) only (1)

(b) TTH (ii) (b) only (ii)

©) A (i) 7 (i) (c) either (i) or (ii)
@ IR (i) 3T (i) (d) either (ii) or (iii)

43, WA A I & IAEL g H TF ‘B' | 43, Prachi starting from place A towards
FaF 10FReH R ), a9 9g gl east upto place B covered a distance of
T g<1 3R 3 G T, fiw A 98 o 10 feets, then she turned right and
T T8 3R 14 e 7ol | TR EH A Y moved 3 feets, again she turned right

and moved 14 feets. At how much
il E@ & distance from place A is she ?
@ . (a) 4 feets
®) SR (b) 5 feets
(c) 27%R (c) 27 feets
d) 24%r (d) 24 feets

44. IR STEA2012F AwER aTaA 318" | 44, If 5" January, 2012 was Monday, then
2013 B PR AT 2 which was the day on 31* March, 2013 ?
(a) TaEm (a) Sunday
(b) EER (b) Monday
(c) TTEER (c) Tuesday
@) FHIBE T (d) None of these

CGP-18-02* Page No. 19 Set-A
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. AT I+ Do pIAX | 45,
3R S 7 37 - 2, A 68.A48D258P10 =7
(a) 46
(b) 64
(c) 12
(d) 500

¥m : (3. 46 - 43
(0 T % T Ty g 4 oA, 9,
39 o = s 4|

i) 58f x4 At ¥ el semm wAR
T E |

(iii) 4 95t x 3 It % Rrgfig 3w =) Fre @
TR

(iv) W9IH SRR ATITE |

V) FAEETMH A x| T TS
T FRIT |

If A means +, D means +, P means x

and S means ~, then 68 A48D2S8P10 = 7
(a) 46
(b) 64
(¢) 12

(d) 500

Directions (Question 46 - 48) :

(1) A wooden cuboid has length 4 cm,
breadth 3 cm and height 5 cm,

(if) Opposite sides of 5 em X 4 cm are

coloured red.

(iii) Opposite sides of 4 cm X 3 cm are

coloured blue.

(iv) Remaining two sides are coloured

green.

(v) The cuboid is cut-off to divide into

cubesof lemx 1 em x 1 cm.

46. mﬁqﬁﬁaﬁaﬁ:}qm ? 46. How many cubes will have only one
colour ?
@ (@ 12
(b) 16 ®) 16
{c) 22 ) 22
(d) 28 (d) 28
CGP - 18- 02* Page No. 20 SetA
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fra wai g wsft o Em 2 47. How many cubes will have all the three
9
@ 14 colours
b) 12 (a) 14
; (b) 12
e 10 (c) 10
(d 8 (d) 8
48. FFR =i A R T g ? 48. How many cube will have no colour ?
(a) = (a) Nil
®) 6 (b) 6
c) 4 (c) 4
(d 2 (d) 2
49, SRfaFfeu e |ws N B AT | 49. Four options are given. There is
§ gamar ® | R R 1 a1 SRR | similarity in three excluding one. Find
the option which differs.
@) @ (a) To hear
(b) =& (b) To climb
(c) qaw (c) Toswim
@ = (d) Torun
50. YOS RS R WO @ g - 50. The correct number at the place of
question mark is
36 @ ?
(@) 4 @) 4
) 25 ) 25
(¢) 36 (©) 36
(d) 10 (d) 10
CGP~18-02* Page No. 21 Set-A
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51. U TR Wi Ry e 5 AR B F

52.

53.

38 3 At s vt R e fora T
R 1 37 Q) g Foeen o qrew g A £ A
e T e & St 7 o §

wajn

(a)

(b)
(c) %
@ 2
QU et R e o w @ R
o % TS H1 2 E, A

(a) HI oS T

(b) IS TEA TE

(c) T T YT TS Ush SRUIeHH

(d) T8 AP 7

50 ® W TTHa TS b fhad gm o
S o Ft e e 0 €, 399 s w
IR FAE2: 78 ?

(a) 3

(b) 2
(c) 1
(d) = & HE T

CGP-18-02*

S1.

2.

53.

From a circular plate of radius § cm, a
disc of 3 cm radius was cut, whose
centre is the same point as of plate.
Now, have two items a disc and a

washer. Find the ratio of area of disc
with washer,

(a)

(b)

o W= wita
ale

(c)

—
o

(d)

]

Find two numbers such that the
difference between, their square of sum
and sums of square is 2,

(@) Only imaginary numbers
(b) No numbers

(c) One number positive and other
negative

(d) None of these

How many pairs of natural numbers
lying below 50 will satisfy the

condition that the ratio of their

difference to their sumis2:7?
(a) 3

(b) 2

(c) 1

(d) None of these

Page No. 22
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54.

55.

56.

The Vision

T, R iR &R v Hd w1 A 30/
45 3l o0 A d w awa & | 7fe 2 famem
34 T ) H ¢ 7,800 FAM &, 79 1
) 1 vt frerdt ¢

(a) 3,800

(b) 3,600

(c) 3,400

(d) 73,200

e e 40 ot a6 T1e B/, 36
fézn 4 25 forft /w1 1 =ne & <o AT
JTeHY %, 48 B2 H UL A B | T
6 Tard o Bt 7

(a) 50 e

(b) 100 HreX

(c) 200X

(d) 400 ¥

Prafefiga arf # =) @ @@ a3 2

3,2,9,4,[ ],8.81,16
(a) 27
(b) 21
(c) 18
d 15

54.

LA

56.

CGP - 18 - 02*
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Ram. Shyam and Hari can do a piece of
work in 30, 45 and &0 Jays
respectively. If they do the work
together and eamn ¥ 7,800. then what
amount Ram will receive ?

(a) T 3.800

(b) 3,600

(c) 3,400

(d) 3,200

A train with speed 40 km/hr crosses a
man, moving in same direction of speed
25 km/hr in 48 seconds. What will be

the length of train ?
(a) 50 metre

(b) 100 metre

(¢) 200 metre

(d) 400 metre

Which
following square ?

3,2,9,4,[].8,81,16
(a) 27
(b) 21
(c) 18
@ 15

number will appears in

——— i
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5. Fafefvn st o R R 7. Consider the following statements :
4 wmtimtmmtmiﬁ W A team leader need skill 10 assesy
e SR s & e W strength and weaknesses of team
m members.,
HEHES € |

() A team leader need skill to develop

(i) T TS & Y ¥ forg sfw fifire

spectiic dividual goals and o

a9 3k T * ﬁ!‘ﬂ; HHH ‘(‘I'Fﬂ £) establish a common goal for the
frato 1 Hheret smavs R | L
SF SR A A SR g/A TR/ ? Which of the above statement(s) is/are
correct ?
(@) 9 (i)
@y Only (1)
b FTHA (i)

() Ouly (i1)
© O (i)

(©) Both (i) and (i)
(@ T IRIA Gi)

(d) Neither (1) nor (i)

58. F=faies ¥ @ =19 @1 ww-urff gwer | 8.

Which of the following is an example

FT IR ? of one-way communication ?

(a) T Sehifeem (Te) sl (a) A television programme

(b) TH HayT-H TR (b) A classroom situation

(c) T EHEH ’ (¢) A conference

@) Freh Reawdes (d) A meeting on an issue
CGP-18-02* ' “';‘ﬁ“ eyt PR o
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¥y : (9. 59 - 62)

Prerferfiaa a1 1 PEF TG o
¥ I AT :

s ST, S, S, S,
yﬁaﬁmmﬁﬁléyﬁmﬁﬁ:ﬁ
s M ERAEABEE [ AF R
s AR | A e e §
ot 1 it Brhe, 6T, ASIA, Tai,
Sicttater 3it e o e 8 TG 3 3
T 7 B4 A Fh QeI € T A a0
SN A & e ST TE R | 3
oI T 8 37 AT Tl § | 3
SN Tedr & 3N Peale § Wy AE Serdl
3 | 31 Hfrer gga & 98 orehe Wl & | St
el Werd] & 98 HA s Uedl 8 | Hie
Tty B & | IRae YSiT T g 3R
TifEzet Tga1 & | 3Tl Hitere T8 U 2 |

59. Feaic s @l @
(a) AT
(b) IEm
(c) HTEAH

(d) A

Direction : (Question 59 - 62)

Read the following information carefully
and answer the questions :

Ajay, Avinash, Amit, Alok, Arun, Anil
and Akhil are seven friends. They are studying
engineering in different branches such as
Mechanical, Chemical, Electronics, Computer
Science, Information Technology, Biotech and
Electrical not necessarily in the same order.
Each of them also excel in one of the following
games such as Football, Cricket, Hockey,
Badminton, Squash, Volleyball and Lawn
Tennis, again not necessarily in the same order.
Anil plays Hockey and neither studies
Electrical nor Information Technology. Arun
studies Electronics and plays Volleyball. Ajay
studies Biotech and does not play either
Football or Squash. The one who studies
Chemical plays Cricket. The one who plays
Football studies Computer Science. Anil plays
Squash. Akhil plays Badminton and studies
Electrical. Alok does not study Chemical.

59 ‘Wﬁo plays Football ?
(a) Avinash
(b) Arun
{c) Alok
(d) Ajay

———
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60. INA=TYRaTR 7
(a) Ffwer
(b) AT Sty
(c) AHFIwe

(d) IR Hidw

The Vision

60.

61. Pefefsrie s o ausmaaaaa ¢ | 61,

(a) ferehe
(b) Fesie
(c) i

(d) &

62. ifem Fggai} ?
(a) Hfwa
(b) e ST
(c) BHfTHA

(d) TR

CGP-18-02*

62.

What does Anil study ?

(a) Chemical

(b) Information Technology
(c) Mechanical

(d) Computer Science

Which of the following game does Ajay

play ?

(a) Cricket
(b) Football
(c) Badminton

(d) Lawn Tennis

What does Avinash study ?
(a) Chemical

(b) Information Technology
(c) Mechanical

(d) Electrical

mPage No. 26
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s 37T R A DR - msﬁ% 63. Two fair dice are thrown independem%y
Eili by a player and needs a total of 5 to win
& & 1 T 30 A R s the game. What will be his probability
2 of winning the game ?
(a) 3 2-
I (a) 3
®) 3 1
®) 3
1
) 3 1
? © 3
1
@ 3 1
@ 3
64. TP |||W3R°[x2n°t%,3ﬁt{$ 64. A plot of size 3 m X 2 m is dug upto
WW@WW&@@W@W depth of 1 m. The soil taken out was
1 used to form a boundary of the said plot
7 I TSt e -
to a height of 5 m with uniform
Il ASTE M @ @ e (A=) H - S o e
s ﬁl‘lﬁ 0 ickness of the boundary, then the
eTg : thickness of the boundary will be
1 1
(a) ‘Elﬁ (a) 5m
3
() 33 ® 5m
2
©) %rﬁ () 3m
. (d) None of these
(d) ¥ A G TE
65. el ‘2 B ¥ o ¥ SFe U I 65. In a circle 'of ¥ac‘liirus a, Tth; scgljare of
i maximum size is drawn. Then the ratio
J7ET & TETH 11 o &%l ol I B of area of circle and the area of square
O will be
® 5 o
2 il
; )
© = 2
r: © %
(d) T A HE TE (d) None of these
CGP - 18 - 02* Page No. 27 Set-A
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67.

68.

69.

70.

. i -foredq welt i @ -

(a) e -g: + gfty
(b) B - + Y

(c) AT — T + IS
(d) IS —Wq + 31

it 3 4 g wa 2 -
(a) 3Tred

(b) refier

{¢) oM™

(d) e

‘G I3 A LT B I R -
(a) YT W TG |

(b) 3itE 7 @i |

(c) 3U& FTT |

(d) TR FHET |

T R, W A =g AR
F43 -

(a) A 9o 0 R e T R |
(b) A A TrE-Tm IR E |

(c) Toft <t Ir=at wa & et R ErEE
B S |

() R g wm F vew ok gu @
ST |

I |1 9o W R 7
(a) =&
(b) Swue
(c) IsoEdd
(d) 39

CGP -~ 18 - 02*

T —————

.

72.

73.

74.

£

‘Fe’ 1 T ¥ T @ -
(a) 3T(ﬁ'=lﬁ
(b) TshE
(c) firfw
(d) R

T W EH IHR S -
(a) BH &
(b) TH &
(c) T EH
ORREESH

frefefga § & ‘aeom’ TSR -
(a) Hieh

(b) Y

() e

(d) &

<EH1 1 TR e @ -
(@) TR

(b) fovamn

(©) AYH

(d) e

‘Irert’ 1 e wee R -
(a) I9TEH
(b) g
(c) 3T
(d) T

Page No. 28
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76. Nrwﬂ FR 7 80. ;mﬁﬁwwm,%mm
(a) HEB E@aﬂ‘&m%?
(b) gl (a) et gl
{(;) ?l'TrL (b) E‘[’(‘ﬁwb{
(d) fesuterett (©) Wl T
(d) BT @
77, T wafieh % gum wrer-due BR s
% Fel’ (2012) 1 fomel % a1y veie o mwﬁﬁaﬁwaﬁwﬁﬁ_
gl Fed-4
ot T ey it
(a) SrbeIeAT FTHT - ;:T
(b) GTAT T () -l
(c) TG |l ‘%
AT
(d) ST T -
¢ ' 3 TorT BieTe! Heren =
78. ‘feregpa &I % fog wefee! gerea =0 = ;:%Hm ¢
27 '
(a) STEET T B
‘ EiCEl
(by 3TeFRE T &L WA o
(c) 3TE ST (¢) AT
(? . (d) T &1 TG
)
ro. et e 3 Ry wad g | 83 SRR S g H -
TR 7 whe-gufen v, R
(a) HEe & (a) iforeT
(b) HIE$-Higl g (b) gga
(c) =g &M (c) qgan
(d) Hri-giEn g (d) waT
CGP - 18- 02* Page No. 29 Set-A



% The Vision

LA

85.

86.

84, wefterTdl e & fa e A g B
olehegl S8 HehAdT _

(a) HIHE

(b) T

(¢) e

(d)

DT ShiebieRi oh e & 1 g B —
IS & & qUU, B H
(@) Hi=
b)
(c) drer

(d) S

TG Shie % o WH g
aﬁﬁ;q_

a1 -G 5T 3,
e |

T 95k

87.

88.

89.

90.

ST craa & e T A of
i —

T Tere fawa of@ @ Tl
LK

(a) ==
(by e
(c) wfear
(d) <gu

ST ST 1 L LT —
Rt 3 YiaT HiE & Wil

(a) g

(b) =5

(c) S

(d) s

DTGl TS fead s T saemsy -
(a) 28 TN

(b) 14 3T

(c) 21 ®@El

(d) 14 faase
‘B! S SR T H L
FHR T3 % TTY TEHTH HH & 7
(a) . forre Fm

(b) . fomet HuR d18H

(c) TEREgH

(d) foa feardl

Page No. 30
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A RR 7
g o6, et foranfari 9 & -
[a) ﬁﬁﬂﬂ B q-;a—ﬁ
W\' (3)
) \ (b) A
(C) ﬁﬂ (c) gefﬂ'\'q
@ 2" @ TX
92. mﬁ@@qmmm%? 97. ﬁﬂﬁf@ﬁﬁﬁﬁmwgﬂm’lé!
' i e ?
(a) 3
(@ 1
(b) §¢ 5 1
(e): Sk © 1
@) % @ ®
‘ ‘ T
TR B TR R ? 98, WG] ST w Fad g, ©
» ‘l@a 4 q\m'mmaﬁf% ?
- (a) HIH3
®)'Q (b) HITA
(c) 33 (c) TR
(d) @ WX
94, ‘ST VI H WgI=A T &M ? 99, 2@ U Rrm s F AR ?
3
i gg (c) da
(c) Ss1HA i)
() 'ﬂgﬂﬂﬂ@'a
100, ‘S3e HT AS TG 7
95, ‘P’ Wz w1 ferdrewr (S I T A el e I,
R - A ¥ aiftgar IRd I |
(@ e (a) IF
(b) T (b) Fed
() Frfe (c) R
@) P d) g
CGP-—-18-02* Page No. 31 Set-A
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